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VALUATION OF
ORDINARY EQUITY

1. SALT Lid shares currently sell for $3
per share., The last dividend was $0.20
per share. The dividend is expected to
grow at 596. (a) What is the required
return on SALT shares? (b) The
dividend yield?

12%, 7%

2. Old Equipment anticipates a dividend
growth rate of 4% forever. The market-
required return is 20% on similar
securities, The next dividend is
predicted to be $0.152 per share. What
is the current price per share?

0.95

3. Green Ltd has just paid a $0.40
dividend. The dividend is expected to
grow at 12% for the next 4 years. Afte
that, the grow rate will be 4% |nd'

If the required return is 1
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CALCULATION

- Suppose that the shares of stock X is
selling at £75. Investors expect a £3
dividend over the next year and an
Increase in share price of £6.

- What is the expected dividend
yield? 4%
- What iIs the expected capital gain/
loss? 8%
- What Is the expected return? 12%




INTRINSIC VALUE OF A
PREFERRED STOCK

+ Consider a company’s share which

u!'fels a perpetual stream of equal CA LCU LATION
dividend payment

vie,D1=D2=D3=........=0t=

- Preferred stock: fixed dividend
+ To find PV or fair price: value like

PREFERRED SHARE Ll

+ Preference shares are commonly D
specified to provide a fixed dividend P = -1
stream. 0

« Dividends are paid only after all
expenses have been met, including
interest.

+ Dividends are more risky than interest
payments (from the same firm)

« Therefore preference shares need to :
offer a return premium. : Cumulative Preference
Non Cumulative Shares
Preference Shares

-+ Dividends are paid from After Tax income. If the next two years' dividends will be skipped
but cumilated (i.e. paid late), then the value will
The company Tictic a preferred be determined in two parts
dividend of $12. 5|"5Tzrsshm have « It now becomes a DEFERRED PERPETUITY
14%. If the preferred shares and a DEFERRED PAYMENT.
le, and the next . E"'E'm' P,
f . ayment of $12 starting in the 3rd year

« Deferred Payment

2*%12 dividend that was skipped in the first 2

years, paid in the 3rd war’ .




EQUITY VALUATION

- The value of equity is the present value
- of the expected future cash flow
- of the forecast of dividends and
expected future price

P — D1+})1
’ (1+r)

TheCaseSolutions.com
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CALCULATION

The price of a share of company ABC
IS expected to be £81 In one year's
time. The company guarantees a
dividend of £3 next year. If shares of
a similar risk Investment offers a
return of 12%, what price should
‘ABC's share be at today? £75




VALUATION OF
ORDINARY EQUITY

CONSTANT GROWTH
Ordin DIVIDEND DISCOUNT
dividend growth MODEL

+ Also known as the Gordon Growth

Madel

+ Suppose forecast dividends grow at a
constant rate, g, then we can use the
following formula to calculate the price of
the share:

DIVIDEND
DISCOUNT MODEL

Valuing Common Stock
+ We can express a share's present value as the with two-stage Growth
present valedni e How do we value a firm' common
paid by the compgipiinisE =t EEE U stock price which is experiencing a
EfEming o the A high growth in dividends which is
o n, n, n, followed later by a lower but stable
RS TEAFr A TR growh rate in dividends?
+ What if g = 30% (supemormal
grawth) for 3 years before
achieving long-run growth of 6%7
Can no longer use the simple
constant growth model to find the

n-




DIVIDEND
DISCOUNT MODEL

- We can express a share’s present value as the
present value of all the forecast future dividends

paid by the company to its shareholders without
referring to the future share price.

D D D

(l + r) (1 + r)2 (1 + r)3




